O
Ces x =¢ 2532y =
I -~
[= ey
\
}:—’T ] - sax=- © é:
B\ W T s
K . \/\Q\ﬁ \ \.{
—— - T s N R -
& Tl pyE Ve %
T | 1
oL 3T ST 2T B -
N T [N~
| P
. i 2 _
@ 0 sw? () -~ @Sh—x Cos “X =
a P R o
/- cos (7x) s "%CZ’Q);/;%»&SQ_{)\
- LO( 2 ) 'S L {\ L
= 5 -Seshx) -5 = L (1- o’ (ax))
-—:_\\-—S- QOSC’LX) | — _’_<’_ (l-&—Qo;(’*f)c))j
~— b —

g N

i

I
’—*“"‘*‘—-‘\
Tl

‘
Al
N

| ]
N

-

X<
™"




o
@ Ha 3
C e 225° N
S"k(”z S.:) 4.& {~C(9§(2’2§o {_ﬁ__\u
L e
_ V3

(7 +(
B 1\FL 2’“‘2—
/ Sm/l/z;) \{2*—\@, f
Cos (112,g0) o _|| {F o5 los9)
Z
- Sl N
- _ ‘g,—_“?':—- :’\!v Z- £
e 1\[&{'—"\
..\G; 2-\6
OR—\F——-—— -:‘\," —
L'f ;,r\hw;g %
— = aex (25
So taw (2,c%) o N2 2 —
- ‘;a.,
> Na-va

beited = -\ 22 2 +y a N
2-\72.  OfR_ rf ra +7:’ = +UVZ
2=V7 5

AR
lom(25%)= ~ XMV aVike v 2\2nE




2% MomEwon # <

@ < (3x)eos (2x)

- _‘;Es,,; (gx;.@.«z,{\) 4T 0 (%x« 'Lx}

@ s (o%) s (Y )

. —/
- 3,\‘

I



